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Instructions :

(i) All questions are compulsory : L
(i) Question Nos. 1 to 5 are objective type questlons Each question is allor_ted 5 marks.
'(iii) Internal options are given in Question Nos. 6 to 26 each.

" (iv) Q. Nos. 6 to 10 carry 2 marks each and answer should be given in about 30 words.

(v) Q. Nos. 11 to 14 carry 3 marks each and answer should be glven in about

75 words. :
(vi) Q. Nos. 15 to 21 carry 4 markS each and answer should be given in about . -

120 words. _ '
(vii) Q. Nos. 22 to 26 carry 5 ‘marks each and answer should be give

150 words.
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Choose the correct answers :
(i) How many prmcely states were there at the time of freedom of India ?

(A) 542 | o “B) 552
(C) 562 . (D) 572
(i) In which year SAARC was founded ?
(A) 1994 | (B) 1995
(C) 1985 (D). 1990

(iii) Operation Gibralter is related to which-of the following ?

(A) India — Pakistan (B) India — China
(C) India — Nepal (D) India — Sri Lanka -
(iv) What is the colour of the flag of UN. ?

(A) Red ‘ (B) - Blue

(C) Green - (Dy%Qrange
. (v) - Globalization is | - . :
o world (B) Cultural Revolution

(A) Globallzatlon of

(C) Umon of States (D) Provincialization
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“Fill in the blanks H

() - take part in non allgnment conference. '
(i1) SEATO was founded in
(iii) UNO day is celebrated on

(iv) The first condition of modernization is

V) person hindranciate _.for freedom.
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Write the answers in one sentence each

108 Whlch type of member is Indla in World Bank ?

(ii) The head office of which reg;onal organization is sn:uated in Nepal ?

(i) What is called the heart of UNO 7
“(iV) By which name of globalization is known ?

(v) What is full form of PWG ?
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Write True/False :
i -alie > r
(”) Non-alignment follows the race of weapons.
(ii) Democracy is cstablished in 1950 in Nepal
(iii) India became member of UNO on 30" October, 1945
(iv) Change is the first condition of modernization
(v) Constitution of’ India is unique mixer liberalization and hard
hardness.
5 gd W) FaAEa
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(iv) 7@l @ve A=A 11997
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Match the correct pairs : |
(A) (B)
(i) B. N. Rau Pune
(ii) Servants of Indian Society Constitution advisor
(iii) Balika Samruddhi Yojna 1963 -
(iv) Gorkha Land Movement 1997 |
v ‘ i ‘
| (v) Nuclear Non Proliferation - Assam
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What is Azad Kashmir ¢

S¥E | OR |
W—W%sﬁm%ﬁmﬁwmmgé?
Which pnncgly States . created. problem§ by taking integration ?
TR F e B D e gy v w7 2.

Which are two important problems of refupees ?

FE | OR
R ol vt I @ @y g A @ ?

When did India send its first military troop to Kashmir ?

Ut wweeR @ 4 ¢
Who' \vas Constitution advisor ?‘

s [ OR
R N ey wed ¥
Who is called ‘Key’ of Constitution ‘?
A T & B A syea fafag) |
Write any two aims of European Union.

s | OR
Tetrusa o R/ ey 7

What is means of Non-alignment ?
e ey &% i A e
Write any two provisions of Shlmla Agreement

s | OR

B zrq\ Hel g % ? .
Where is situated Kachhatlbu Tapu r’
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.. Write the name of members for p, aking Constitution
S ) OR
aﬁmﬁﬁmﬁrﬁfﬁ?ammqﬁﬁgq.
Write the three needs for making Constitution.

committee.

Write any three fundamental duties of citizens.
syar /| OR
it F a—ﬂé J= Aifere et faRag)

Write any three fundamental rights of citizens,

13 wgw T @9 ¥ @ dW @ fuRgw

| Write any three aims of United Nations. -
s | OR o

wwwﬁmwmm%ﬁ%@suml

Write any three aims of Economic and Social Council of
United Nations. '

W Prselee & ot ¥ e wgE aEnd Ae-ae o
What are the main problems of hindrances in the way of disarmament ?

Fuw /| OR
qﬁﬁﬁﬁ{ﬂﬂq%@%g@?ﬂ*aﬁww'

Write the full name of “UNESCO” and give two objectives of it.

15 %mﬂmwmﬁfﬁaﬁg%ﬂ%fﬁ?wm' 4
.erte the full name of “NITI Ayog’ and give its- three functlons S
| o s | OR S
Ay, T an arar % @ frEd!

Write the M.P. Backward Class Commissions functions.
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‘Write four causes of rlse regmnahsm in India.
o / OR .

Write four reasons of economic’ mequallty

17 s wfear omdm % B Rk 4
" Write the functions of Natlonal Commlssmn for, Women
ERIBR IR k| ?ﬁl"a‘ qree qu f.}ﬂﬁgqi _
erte four beneﬁts obtained from forest.
ISIW&I%QT%%%WWWI 4
Write the determining factors of Indian Forelgn POlle
ser | OR .
“Hﬁmt{z—ﬁﬁwaﬁ?ﬁﬁrmaﬁ%ﬁm%ﬁml
Wr1te reasons for the adoptlon of Non- alignment policy by India.
19 m%mww%ﬁng%?ﬁqa%wﬁﬁgm 4
Write the full name of “SAARC” and give its three objectwes
3121?11 [ OR
UL HaT ﬁsr ¥ Wr @ Rt
Write four functions of International Monetary Fund.
-}Qy-w—aﬁﬁwa@ﬁmmwﬁ%%ﬁéwﬁ%%ﬁﬂm 4
Write any four pomts of Indo-U.S. Non-Military Nuclear Agreement.
s /| OR -
mamw%ﬁ%%ﬁgaﬂg@qmaﬁ%ﬁml-
Write four main pr0v1510ns of Tashkent Agreement.
ZI'WgﬁaﬁWa%aﬁ%ﬂﬂﬁmW‘- 4
Write the four features of modernization. ‘
. | s | OR
el @ a fadeand fafag | |
" Write four features of-liberalization.
A, PTO.
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Discuss formation and recommendafions of State Reorganization
C01mn15510n '
aqEr FTOR

maﬁmﬁsmﬁﬁﬁanﬁwwaﬁ“wwﬁ ?
What was role of United Natlons in the way of solving of Kashmlr
problem ? : :

z/mﬁum%wm@mm o 5

\
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Write the five ob_lectwes of Five Year Plans.
%@t ) OR
e %5 qrg a%&tr iteped!

Write the five objectives of plannings

S8

%ﬁaﬁmmau%?%m%ﬂﬁﬁﬁ%m%ml 5
. What is the meaning of Regionalism ? Write stopping of measures o
for the causes of rise it. - |

[ OR
TR R 7 sEE STE & @Ry _
What is meant by Naxalism and write the causes of its orlgm '

R

wﬂwmw'ﬁwﬁwﬁmwmm%@m Y )
Write the measures to make the corSumer protection more effectwe -
st [HOR ‘

.‘v‘l?»‘cﬁl'& TS/ &I Hig Ui - fasroamd ffag S 1 E |

. Write five characterlstlcs of co-operative orgamzanon/movement

26

'ﬂﬂ?ﬂvﬁ%ﬂﬁﬁr%ﬁ@ﬁ‘rmaﬂﬂﬁmﬁﬁml T

Describe briefly the prmc1p1es of .Indian Foreign Policy.
ser /. OR
W—ﬁfbﬁ:ma{ﬁw@r@sﬂ%ﬂw%mm@wﬁrﬁm-

for cmergence
te ? erte factors accountable
What is meant by Deten

of Detente ?
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